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1 Bram 50 SR R BIT 0.45.12 !
9 mrem 45 WP % r2o% 0.46.19 2
3 BT6H 46 B A [t 0.47.78 3
A BT 12 AN BE A =TV R 0.48.11 4
5 BTsH 32 R Vs B U 0.48.96 0
6  MrsE 33 jER HE— it 0.49.61 !
7 [ Ea 43 [FEE EHi FORL L2 0.51.12 8
8 B3 51 RN HEER WALT 0.51.39 9
0 BT6E 47 R K r25% 0.51.48 10
10 BF7H 44 - 2 A=A 0.53.00 12
11 BTom 271 EHH B WAL T L2 0.53.36 13
12 Brew 48 Al TR 0.53.48 14
13 BTeM 49 Wt EX it 0.53.68 1o
14 B8 35 AR TARGE WAL T < 0.56.60 17
15 Brol 26 Tl FApk CE: 0.57.06 18
16 Brsim 39 ki HHE ik 0.57.20 19
17 BrSi 36 NIE B ok 0.57.83 21
18 BEsE 40 ik HE 73 0.58.34 22
19 Brsi 34 JIlO fn WALT s 0.58.73 23
20 BTols 30 JRHE % WALT Vs 1.00.30 24
21  BT9H 28 KW Bz FOR L7 1.00.43 25
22 BT 29  WH B AS=TVR 1.02.45 26
23 HT108 23 SR AIEBE WALT L~ 1.02.45 27
24 BT 22 R Hik i 1.09.71 31
25 BEI 52 HE A ik 1.10.30 52
o6  BT10% 25  Bppo EA FORL L7 1.13.56 33
27 BEOW 24 B EG 5% 2.10.18 3
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